
CHEMISTRY

BOOKS - MTG IIT JEE FOUNDATION

MATERIALS : METALS AND NON-

METALS

Illustrations

1. Identify the metal on the basis of the

property mentioned. 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_v1OuCmJCHv9D


(a) Liquid at room temperature. 

(b) Does not corrode even after serveral years. 

(c) Develops a green layer on the surface, in

presence of moist air. 

(d) It is stored in kerosene. 

(e) Has magnetic properties and is rusted.

Watch Video Solution

2. Complete the following reactions, 

(i)  


(ii)  


Mg + HCl → ____ + H2

Ca + ____ → CaSO4 + ___

https://dl.doubtnut.com/l/_v1OuCmJCHv9D
https://dl.doubtnut.com/l/_RUdE76WQZirf


(iii)  


(iv)  


(v) .

View Text Solution

____+HCl → ZnCl2 + ____

____+____ → MgSO4 + H2

Al + ZnSO4 → ____+____

3. Why is sodium metal kept under kerosene

oil ?

Watch Video Solution

https://dl.doubtnut.com/l/_RUdE76WQZirf
https://dl.doubtnut.com/l/_CxdqS3s6g1Ja


4. What are the maini differences between

metal and non-metals ?

Watch Video Solution

5. What are noble gases ? Why are they so

named ?

Watch Video Solution

https://dl.doubtnut.com/l/_H5DnbWYUAxV5
https://dl.doubtnut.com/l/_C6BVLAeb7YL1


6. Write some important uses of phosphorus

and sulphur.

View Text Solution

7. Write various methods to prevent corrosion.

Watch Video Solution

8. Give names of the following metals : 

(i) The best conductor of electricity 

https://dl.doubtnut.com/l/_oeyeCxqoOXoc
https://dl.doubtnut.com/l/_YgBZ9jev9dni
https://dl.doubtnut.com/l/_0rBctqIAOezw


(ii) The metal used for preventing rusting of

iron 

(i) A metal which can be cut with a knife 

(iv) A metal which is present in the blood

View Text Solution

9. Name the non-metals which show the

following properties : 

(i) A non-metal which has lustre and is a good

conductor of electricity. 

(ii) A non-metal which is the hardest natural

https://dl.doubtnut.com/l/_0rBctqIAOezw
https://dl.doubtnut.com/l/_3Bkh7uROK7wL


substance. 

(iii) A non-metal which is essential for

respiration 

(iv) A non-metal which is the source of energy

in the sun and stars.

Watch Video Solution

10. (a) What is the most important ore of

aluminium ? What is its formula ? 

(b) How aluminium extracted from the ore ? 

https://dl.doubtnut.com/l/_3Bkh7uROK7wL
https://dl.doubtnut.com/l/_dDrrB74BK916


Solved Examples

(c) Why is alumina dissolved in molten cryolite

before subjecting it to electrolysis ?

Watch Video Solution

1. In the following four test tubes, some metals

are in contact with certain salt solutions. After

the experiment, in which of the test tubes

does the solution becomes colourless and a

powdery red mass is deposited at the bottom

https://dl.doubtnut.com/l/_dDrrB74BK916
https://dl.doubtnut.com/l/_Hrh554A0qXsD


of the test tube ? 

Watch Video Solution

2. A silver spoon is kept immersed in an

aqueous solution of copper sulphate. What

change will take place ?

View Text Solution

https://dl.doubtnut.com/l/_Hrh554A0qXsD
https://dl.doubtnut.com/l/_MnXgZNMNHZkA
https://dl.doubtnut.com/l/_Hr7aKSDBaavD


3. A solution of copper sulphate was stored in

an iron container. After a few days, some holes

were seen in the iron container. Explain the

observation.

Watch Video Solution

4. What happens when samples of metals and

non-metals are mixed with acids ?

View Text Solution

https://dl.doubtnut.com/l/_Hr7aKSDBaavD
https://dl.doubtnut.com/l/_OmDWicqPwhug
https://dl.doubtnut.com/l/_6xjaarKoPtA3


5. Compare metals and non-metals on the

basis of chemical properties.

Watch Video Solution

6. Name the metals present in the bases and

non-metals present in the acids listed below: 

(i) Slaked lime (ii) Magnesium hydroxide (Iii)

Caustic soda 

(iv) Zinc hydroxide 

(v) Sulphuric acid 

(vi) Nitric acid 

https://dl.doubtnut.com/l/_6xjaarKoPtA3
https://dl.doubtnut.com/l/_m0tMIqKLIuIO


(vii) Phosphoric acid 

(viii) Carbonic acid

View Text Solution

7. Which of the following reaction cannot take

place ? Justify your answer. 

(i) Iron + zinc sulphate Iron sulphate + Zinc

(ii) Magnesium + Silver nitrate Magnesium

nitrate +Silver 

(iii) Copper + dil. sulphuric acid Copper

sulphate + Hydrogen 

→

→

→

https://dl.doubtnut.com/l/_m0tMIqKLIuIO
https://dl.doubtnut.com/l/_6ikNHDCy4ZLw


(iv) Zinc + ferrous sulphate Iron + zinc

sulphate

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

→

i, ii and iii

iii and ivonly

i and iiionly

i, ii, iii and iv

https://dl.doubtnut.com/l/_6ikNHDCy4ZLw


8. Complete and balance the chemical

equation for the following reactions: 

(i) Sulphur+Oxygen  


(ii) Phosphorus+Oxygen  


(iii) Carbon+Oxygen  


(iv) Zinc+Oxygen  


(v) Sodium+Oxygen

View Text Solution

→

→

→

→

→

https://dl.doubtnut.com/l/_hwyHMEtnynfG


9. Explain reaction of sodium, magnesium and

iron with water.

Watch Video Solution

10. (i) What is an alloy ? 

(ii) A light and strong alloy is required for

making bodies of aircrafts what should be its

constituents ?

Watch Video Solution

https://dl.doubtnut.com/l/_2wTRGbT5TTIy
https://dl.doubtnut.com/l/_46HqWaVWSfdc
https://dl.doubtnut.com/l/_E2iuRtIwtHBb


11. Define the terms : Galvanized iron and

passive iron.

Watch Video Solution

12. Metal M occurs in earth's crust as its oxide

. An alloy of this metal is used in making

aircrafts. Name the metal M and its oxide.

Watch Video Solution

M2O3

https://dl.doubtnut.com/l/_E2iuRtIwtHBb
https://dl.doubtnut.com/l/_L24l6mgTJa2g


13. Are metals a renewable resources ? If not,

can they be recycled ?

Watch Video Solution

14. What is malleability ? Name two most

malleable metals.

Watch Video Solution

https://dl.doubtnut.com/l/_CzHSvS3C0MRv
https://dl.doubtnut.com/l/_Bm1TBf8QlSJR


Ncert Section

15. Explain the reaction of sodium and water

with the help of an activity.

Watch Video Solution

1. Which of the following can be beaten into

thin sheets?

A. Zinc

https://dl.doubtnut.com/l/_wBjpiO21LDjW
https://dl.doubtnut.com/l/_5yGqv2n1qRk0


B. Phosphorus

C. Sulphur

D. Oxygen

Answer: A

Watch Video Solution

2. Which of the following statements is correct

?

A. All metals are ductile

https://dl.doubtnut.com/l/_5yGqv2n1qRk0
https://dl.doubtnut.com/l/_40GX2mVsk0y8


B. All non-metals are ductile.

C. Generally, metals are ductile

D. Some non-metals are ductile

Answer: C

View Text Solution

3. Fill in the blanks 

(a) Phosphorus is very ____non-metal 

(b) Metals are___conductors of heat and ____. 

https://dl.doubtnut.com/l/_40GX2mVsk0y8
https://dl.doubtnut.com/l/_EB5NosTpArCQ


(c) Iron is ____reactive than copper. 

(d) Metals react with acids to produce___gas.

Watch Video Solution

4. Mark 'T' if the statement is true and 'F' if it is

false. 

(a) Generally, non-metals react with acids. 

(b) Sodium is a very reactive metal. 

(c) Copper displaces zinc from zinc sulphate

solution. 

(d) Coal can be drawn into wires.

https://dl.doubtnut.com/l/_EB5NosTpArCQ
https://dl.doubtnut.com/l/_ZSOWr0j6n24Q


Watch Video Solution

5. Some properties are listed in the following

Table. Distinguish between metals and non-

metals on the basis of these properties. 

Watch Video Solution

https://dl.doubtnut.com/l/_ZSOWr0j6n24Q
https://dl.doubtnut.com/l/_m11sysiQM1BP


6. Give reasons for the following. 

(a) Aluminium foils are used to wrap food

items. 

(b) Immersion rods for heating liquids are

made up of metallic substances. 

(c) Copper cannot displace zinc from its salt

solution. 

(d) Sodium is stored in kerosene.

Watch Video Solution

https://dl.doubtnut.com/l/_99iovu6Xm9in


7. Can lemon pickle be stored in an aluminium

utensil? Explain.

Watch Video Solution

8. Match the items in column I with the uses in

column II. 

https://dl.doubtnut.com/l/_TS6ge2mtZNnM
https://dl.doubtnut.com/l/_CrgG4YQnsbdp


Watch Video Solution

9. What happens when ,Dilute sulphurc acid is

poured on a copper plate ?

Watch Video Solution

10. Prateek took a piece of burning charcoal

and collected the gas evolved in a test tube. 

(a) How will he find the nature of the gas? 

(b) Write down word equations of all the

reactions taking place in this process?

https://dl.doubtnut.com/l/_CrgG4YQnsbdp
https://dl.doubtnut.com/l/_P0YRUX7eXNS2
https://dl.doubtnut.com/l/_qrLiii0D5OaN


Watch Video Solution

11. One day Kavita went to a jewellers shop

with her mother. Her mother gave an old

metal jewellery to the goldsmith to polish.

Next day when they brought the jewellery

back, they found that there was a slight loss in

its weight. Can you suggest a reason for the

loss in weight?

Watch Video Solution

https://dl.doubtnut.com/l/_qrLiii0D5OaN
https://dl.doubtnut.com/l/_iKaOhxSPTuSW


Exercise Mcq S Level 1

1. Which of these elemtns is used as an

antiseptic in medicine ?

A. Carbon

B. Oxygen

C. Nitrogen

D. Iodine

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_9jZbk6vicgym


2. Which of the following does not contain a

metallic element ?

A. Sodium chloride

B. Silicon dioxide

C. Magnesium oxide

D. Calcium hydroxide

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9jZbk6vicgym
https://dl.doubtnut.com/l/_gD16rCEiQ6VW


3. Bronze is an example of

A. an element

B. a compound of copper and zinc

C. a mixture of copper and zinc

D. a mixture of copper and tin.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_RRd1kQmhSWyU


4. A metal dissolved in mercury is called a/an

A. suspension

B. emulsion

C. amalgam

D. solution

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_K8iTMQC6L3ia


5. Identify the most reactive metal.

A. Iron

B. Gold

C. Zinc

D. Potassium

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_CY5QDLvkXwnj


6. Which metal does not react with water ?

A. Na

B. Mg

C. Cu

D. Fe

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_IJsMryym2yEU


7. An element X forms an oxide XO which turns

red litmus blue. Identify X.

A. A metal

B. A non-metal

C. A metalloid

D. A noble gas

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_tds7ERKqv335
https://dl.doubtnut.com/l/_2A44npRjReys


8. An alloy used in making bodies of aircraft is

A. duralumin

B. steel

C. amalgam

D. solder

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2A44npRjReys


9. The non-metal used in vulcanization of

rubber is

A. sulphur

B. carbon

C. phosphorus

D. nitrogen

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fTFoM2G3zwzO
https://dl.doubtnut.com/l/_Jjnqkk62LEQE


10. Which of the following is a non-metal ?

A. Tungsten

B. Mercury

C. Graphite

D. Platinum

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Jjnqkk62LEQE


11. A coil of copper wire can be made by pulling

a larger piece of copper metal. This is due to

which of the following properties of copper ?

A. Malleability

B. Ductility

C. Tensile strength

D. Conductivity

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9erNeZMSUBrI


12. The metals are eaten away when they are

exposed to water, oxygen and other chemicals.

What is this process known as ?

A. Oxidation

B. Corrosion

C. Galvanisation

D. Amalgamation

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0O26sZJwmPwj


13. Metal which does not react even with

steam is

A. potassium

B. iron

C. magnesium

D. silver.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Uy81Kw2H1m71
https://dl.doubtnut.com/l/_FOiS6WBBV9yS


14. When steam is passed through zinc then

A. zinc oxide is formed

B. zinc hydroxide is formed

C. hydrochloric acid

D. water

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_FOiS6WBBV9yS


15. The metal which is present in brass, bronze

and German silver is

A. Mg

B. Zn

C. Cu

D. Al

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_8YrMQ42DMr5b
https://dl.doubtnut.com/l/_IfoXpRUWr4pi


16. The metal that forms a self-protecting film

of oxide to prevent corrosion is:

A. Cu

B. Al

C. Pt

D. Au

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_IfoXpRUWr4pi


17. Two metals are melted and mixed together.

The resulting mass is cooled to solidify. What

is this solid called ?

A. An alloy

B. A non-metal

C. An oxide

D. A mineral

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Y63f2yWcXynk


18. When a metal X is added to dilute HCl

solution, there is no evolution of gas. The

metal X is

A. K

B. Na

C. Ag

D. Zn

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YG7vt5lkCLYM


19. The correct order of increasing chemical

reactivity is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Zn < Fe < Mg < K

Fe < Mg < Zn < K

Fe < Mg < K < Zn

Fe < Zn < Mg < K

https://dl.doubtnut.com/l/_f67XsmxIrWmG
https://dl.doubtnut.com/l/_ojdFzVimULfZ


20. Which of the following elements produces

basic oxide on reacting with oxygen ?

A. Chlorine

B. Sulphur

C. Phosphorus

D. Magnesium

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ojdFzVimULfZ


21. Copper sulphate solution can be safely kept

in a container made of

A. aluminium

B. lead

C. silver

D. zinc

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_pGnFraC78C6S
https://dl.doubtnut.com/l/_ycXr8cbgMmdi


22. Which of the following metals occurs in

free state in nature ?

A. aluminium

B. Calcium

C. Gold

D. Sodium

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ycXr8cbgMmdi


23. Which is not a basic oxide ?

A. Sodium oxide

B. Calcium oxide

C. Silicon oxide

D. Iron oxide

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dSwcVbUNGJji


24. Mercury is used in thermometers because

A. it does not stick to the glass

B. It expands on heating

C. it is a liquid

D. all of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_mWNh88VtT4LX


25. Tungsten is used in electric bulbs because

A. it is sonorous

B. it has high melting point

C. it has high tensile strength

D. it has high density

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_7v2E5crGY9gT


26. Which of the following is not a property of

aluminium ?

A. Good conductor of heat and electricity.

B. It is malleable.

C. It is heavy.

D. It is ductile.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_nPeDvKdT3IE4
https://dl.doubtnut.com/l/_JcUDchIoTUzX


27. When a substance X is hit with a hammer, it

expands in size but does not break. This is

because the substance is

A. ductile

B. hard

C. elastic

D. malleable.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JcUDchIoTUzX
https://dl.doubtnut.com/l/_6Xt9nsygZDu3


28. Non-metals do not conduct electricity

because

A. they have free electrons

B. they donot have free electrons

C. they are electron donors

D. they are electron acceptors.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6Xt9nsygZDu3


29. Which of the following methods is suitable

for preventing an iron frying pan from rusting

?

A. Applying grease

B. Applying paint

C. Applying a coating of zinc

D. All of the above

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_gsVDIuRlfeV9


30. Which of the following is not property of a

non-metal ?

A. Formus anions

B. Forms acidic oxides

C. High tensile strength

D. Low density

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_nAVRjizPQ3Kz


Exercise Mcq S Level 2

1. Aluminium is a type of metal that is used to

make

A. wires and bulb filaments

B. tanks and magnets

C. drink cans, foil and aeroplanes

D. food containers and tooth fillings.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_77pmLb23eqnS


2. The reason(s) why aluminium is preferred

over copper for making overhead transmission

cables 

(i) Aluminium is lighter than copper 

(ii) aluminium is harder than copper 

(iii) aluminium is less soluble in water than

copper.

A. Only (i)

B. Only (iii)

C. Only (i) and (ii)

https://dl.doubtnut.com/l/_77pmLb23eqnS
https://dl.doubtnut.com/l/_zNgyfP939c2d


D. (i), (ii) and (iii)

Answer: A

Watch Video Solution

3. Gravity separation method is based upon:

A. preferential washing of ores and gangue

particles

B. difference in densities of ore particles

and impurities.

https://dl.doubtnut.com/l/_zNgyfP939c2d
https://dl.doubtnut.com/l/_CLBEqJmmBzse


C. difference in chemical property of ore

particles and impurities.

D. none of these

Answer: B

Watch Video Solution

4. A copper coin is kept immersed in a solution

of silver nitrate for some time. What will

happen to the coin and the colour of the

solution?

https://dl.doubtnut.com/l/_CLBEqJmmBzse
https://dl.doubtnut.com/l/_MMnWpOB8xPcS


A. Silver metal will be deposited on coin

and solution will turn blue.

B. Solution will remain colourless and coin

will turn blue.

C. Both solution and the coin will turn blue.

D. Both solution and the coin will become

colourless.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_MMnWpOB8xPcS
https://dl.doubtnut.com/l/_K0YkQVBO6dbV


5. Which of the following pairs will give

displacement reactions?

A. NaCl solution and copper metal

B.  solution and aluminium metal

C.  solution and silver metal

D.  solution and zinc metal

Answer: D

Watch Video Solution

MgCl2

FeSO4

CuSO4

https://dl.doubtnut.com/l/_K0YkQVBO6dbV
https://dl.doubtnut.com/l/_avMveDgjAmyu


6. An unknown metal X when placed in copper

sulphate solution gives a red brown deposite.

When placed in magnesium sulphate solution,

gives no reaction. Identify element X.

A. Sodium

B. Potassium

C. Calcium

D. Iron

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_avMveDgjAmyu


7. In the process of welding metals like

stainless steel and aluminium

A. oxyacetylene flame is used

B. liquid helium is used

C. liquid oxygen is used

D. liquid nitrogen is used.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_avMveDgjAmyu
https://dl.doubtnut.com/l/_vAD035EMhRcd
https://dl.doubtnut.com/l/_mNnHVGhScR8E


8. Which of the following metals on reaction

with sodium hydroxide solution produce

hydrogen gas ? 

1. Cu 

2. Al 

3. Fe 

4. Zn

A. 2 and 3

B. 2 and 4

C. 1 and 4

D. 2 only

https://dl.doubtnut.com/l/_mNnHVGhScR8E


Answer: B

Watch Video Solution

9. Match the following. 

 


Which of the following shows the correct

matching ?

https://dl.doubtnut.com/l/_mNnHVGhScR8E
https://dl.doubtnut.com/l/_FNM33EDMjIMz


A. P-3,Q-5,R-2,S-1

B. P-4,Q-1,R-3,S-2

C. P-4,Q-5,R-3,S-2

D. P-3,Q-4,R-5,S-1

Answer: D

Watch Video Solution

10. In which test tubes, the rusting of iron nail

will take place ? 

https://dl.doubtnut.com/l/_FNM33EDMjIMz
https://dl.doubtnut.com/l/_TIOOtH3Fma5G


A. I and IV

B. I, II and IV

C. II and III

D. II, III and IV

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_TIOOtH3Fma5G


11. Match the items in column I with column II 

Watch Video Solution

12. A highly reacting element X is stored under

water. It readily reacts with oxygen of air to

give a compound Y which dissolves in water.

The aqueous solution of Y changes blue litmus

solution to red. The element X is

https://dl.doubtnut.com/l/_zCUdrCbig0ZA
https://dl.doubtnut.com/l/_52xfnT0Rq8o6


A. sodium

B. Sulphur

C. phosphorus

D. Potassium

Answer: C

Watch Video Solution

13. Two elements A and B on burning in air

give corresponding oxides. Oxides of both A

and B are soluble in water. The aqueous

https://dl.doubtnut.com/l/_52xfnT0Rq8o6
https://dl.doubtnut.com/l/_0Mq71mcQXmqN


solution of oxide of A is alkaline and reacts

with aqueous solution of oxide of B to give

another compound. Identify A and B

A. A and B both are metals

B. A and B both are non-metals

C. A is metal and B is non-metal

D. A is non-metal and B is metal

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0Mq71mcQXmqN
https://dl.doubtnut.com/l/_GRJS4kpfA23N


14. Metallurgy is a process of extracting

A. metal from its mineral

B. metal from its ore

C. pure metall from its ore

D. metal from its pure ore

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_GRJS4kpfA23N


15. When few granules of sample X are added

to a solution of copper sulphate, the changes

observed are shown in the figure. 

 


Identify sample X and red deposit.

A. Fe, Zn

B. Zn, Cu

https://dl.doubtnut.com/l/_0GdYWWH8jkZq


C. Cu, Zn

D. Fe, Cu

Answer: B

Watch Video Solution

16. Choose the reactions which are not

feasible. 

I. Iron+Zinc sulphate Iron sulphate+Zinc 


II. Magnesium+Silver nitrate Magnesium

nitrate+Silver 

→

→

https://dl.doubtnut.com/l/_0GdYWWH8jkZq
https://dl.doubtnut.com/l/_0wS9wynd9YoG


III. Copper+dil. Sulphuric acid  Copper

sulphate+Hydrogen 

IV. Zinc+Ferrous sulphate Iron+Zinc

sulphate

A. I, II and III

B. III and IV only

C. I and III only

D. I, II, III and IV

Answer: C

Watch Video Solution

→

→

https://dl.doubtnut.com/l/_0wS9wynd9YoG


17. Meenu sets up an electric circuit as shown

in the figure by usingg copper wire. She

repeated the experiment with: 

Aluminium foil,  Iron nail, 


Coal, Graphite 


In which cases the bulb will light up ? 

A. I and II only

I → Ii →

III → IV →

https://dl.doubtnut.com/l/_0wS9wynd9YoG
https://dl.doubtnut.com/l/_OX8U5mbww62h


B. II and IV only

C. I, II and IV

D. I,II,III and IV

Answer: C

Watch Video Solution

18. Study the table carefully and select the

appropriate option. 

https://dl.doubtnut.com/l/_OX8U5mbww62h
https://dl.doubtnut.com/l/_aOqimBtZwAFI


A. W-Potassium, X-Sodium, Y-Graphite, Z-

Aluminium

B. W-Graphite, X-Aluminium, Y-Potassium, Z-

Potassium

C. W-Sodium, X-Aluminium, Y-Potassium, Z-

Graphite

D. W-Aluminium, X-Sodium, Y-Graphite, Z-

Iodine

https://dl.doubtnut.com/l/_aOqimBtZwAFI


Answer: D

Watch Video Solution

19. Some materials like magnesium ribbon,

aluminium foil, copperr wire and charcoal

(powder) were taken in different test tubes

labelled as P, Q, R and S. 5 mL of dilute

hydrochloric acid was added to each test tube.

When a burning matchstick is brought near

the mouth of each test tube, in which cases

pop sound would be heard ?

https://dl.doubtnut.com/l/_aOqimBtZwAFI
https://dl.doubtnut.com/l/_0NztlDupxR4T


A. Only P

B. Only P and Q

C. Only Q and S

D. Only P, Q and R

Answer: B

Watch Video Solution

20. Extraction of highly electropositve metal is

done by

https://dl.doubtnut.com/l/_0NztlDupxR4T
https://dl.doubtnut.com/l/_d8WFIcmMtpWz


A. electrolysis of aqueous solution of metal

chloride

B. electrolysis of molten metal chloride

C. carbon reduction of the oxide of the

metal

D. strongly heating the oxide of the metal

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_d8WFIcmMtpWz


Exercise Match The Following

1. Match the following columns

A. P-3,Q-4,R-2,S-1

B. P-3,Q-1,R-2,S-4

C. P-4,Q-1,R-2,S-3

D. P-4,Q-3,R-1,S-2

https://dl.doubtnut.com/l/_3fmqLvRelbHi


Answer: C

Watch Video Solution

2. Match the following columns

A. P-2,Q-3,R-4,S-1

B. P-4,Q-3,R-2,S-1

C. P-3,Q-4,R-2,S-1

https://dl.doubtnut.com/l/_3fmqLvRelbHi
https://dl.doubtnut.com/l/_K0f0wyEyflI8


D. P-3,Q-4,R-1,S-2

Answer: D

Watch Video Solution

3.  


A. P-3,Q-4,R-1,S-2

B. P-4,Q-3,R-1,S-2

https://dl.doubtnut.com/l/_K0f0wyEyflI8
https://dl.doubtnut.com/l/_qYod7Utb8SV6


C. P-4,Q-1,R-2,S-3

D. P-3,Q-2,R-4,S-1

Answer: B

Watch Video Solution

4. Match the following columns

https://dl.doubtnut.com/l/_qYod7Utb8SV6
https://dl.doubtnut.com/l/_noWiZeLSTKJz


Exercise Assertion Reason Type

Watch Video Solution

5. Match the following columns

Watch Video Solution

https://dl.doubtnut.com/l/_noWiZeLSTKJz
https://dl.doubtnut.com/l/_gAMOvMSzQhte


1. Assertion: Iron is found in free state in

nature. 

Reason: Iron is not highly reactive metal.

Watch Video Solution

2. Assertion: Zinc is used in galvanisation of

iron. 

Reason: Its coating on iron articles increases

their life by protecting them from rusting.

https://dl.doubtnut.com/l/_LcBdZ3g1sQKu
https://dl.doubtnut.com/l/_3rjxf8lH4poF


A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_3rjxf8lH4poF


3. Assertion: Copper cannot displace hydrogen

from acids. 

Reason: It lies above hydrogen in the reactivity

series.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

https://dl.doubtnut.com/l/_3rjxf8lH4poF
https://dl.doubtnut.com/l/_8vvPpfKQ41z8


assertion.

C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: C

View Text Solution

4. Assertion : Aluminium appears dull in colour

and does not react with water, acids or

alkalies. 

Reason: It has a protective layer of oxide on it.

https://dl.doubtnut.com/l/_8vvPpfKQ41z8
https://dl.doubtnut.com/l/_DIZ7R8LbovMt


A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_DIZ7R8LbovMt


5. Assertion : If a piece of copper is placed in

silver nitrate solution, the solution becomes

blue. 

Reason : Displacement reaction takes place

and copper goes into the solution.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

https://dl.doubtnut.com/l/_DIZ7R8LbovMt
https://dl.doubtnut.com/l/_o7GupLAMwbZk


B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_o7GupLAMwbZk


6. Assertion : On beating with the help of a

hammer, coal is converted into small pieces

and finally into a powder. 

Reason : Coal is made up of carbon which is

malleable in nature.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

https://dl.doubtnut.com/l/_aMe0G4sPz3RL


assertion.

C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: C

View Text Solution

7. Assertion : Most of the metals can be beaten

into sheets. 

Reason : Most of the metals are ductile.

https://dl.doubtnut.com/l/_aMe0G4sPz3RL
https://dl.doubtnut.com/l/_kUxzm6CEzPc7


A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kUxzm6CEzPc7


8. Assertion : Graphite is a non-metal. 

Reason : It is the only non-metal which is good

conductor of electricity.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

https://dl.doubtnut.com/l/_kUxzm6CEzPc7
https://dl.doubtnut.com/l/_cvgN4x0UtXTa


C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

9. Assertion : A solution of carbon dioxide in

water turns red litmus blue. 

Reason : Carbon dioxide is basic oxide.

https://dl.doubtnut.com/l/_cvgN4x0UtXTa
https://dl.doubtnut.com/l/_Fq7Qld5n37fQ


A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Fq7Qld5n37fQ


10. Assertion : Copper and aluminium are used

to make electric wires. 

Reason : Copper and aluminium are good

conductors of electricity.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

https://dl.doubtnut.com/l/_Fq7Qld5n37fQ
https://dl.doubtnut.com/l/_TgcdxiEy7FkG


Exercise Comprehension Type

assertion.

C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

1. The decay of metals by atmospheric oxygen

and moisture is called corrosion. Few metals

https://dl.doubtnut.com/l/_TgcdxiEy7FkG
https://dl.doubtnut.com/l/_NfrHEPpUEE9v


do not react with atmospheric gases and

water and do not undergo corrosion, while

others develop a dull layer on them or a

coloured layer to spoil their shiny appearance

or turn black or are converted into powder.

few elements, on the other hand are protected

due to presence of this dull layer of oxide on

them. 

Q. Aluminium does not react readily with air or

water because

A. it occupies high position in

electrochemical series.

https://dl.doubtnut.com/l/_NfrHEPpUEE9v


B. it lies below hydrogen in electrochemical

series

C. it is covered with a layer of oxide which

does not rub off.

D. it is a noble metal

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_NfrHEPpUEE9v


2. The decay of metals by atmospheric oxygen

and moisture is called corrosion. Few metals

do not react with atmospheric gases and

water and do not undergo corrosion, while

others develop a dull layer on them or a

coloured layer to spoil their shiny appearance

or turn black or are converted into powder.

few elements, on the other hand are protected

due to presence of this dull layer of oxide on

them. 

Q. Iron reacts with air in presence of water and

https://dl.doubtnut.com/l/_fnTVTcnY2SS0


forms a brown powder which is called rust.

chemically rust is

A. iron oxide

B. hydrated iron oxide

C. iron sulphate

D. iron carbonate

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fnTVTcnY2SS0


3. The decay of metals by atmospheric oxygen

and moisture is called corrosion. Few metals

do not react with atmospheric gases and

water and do not undergo corrosion, while

others develop a dull layer on them or a

coloured layer to spoil their shiny appearance

or turn black or are converted into powder.

few elements, on the other hand are protected

due to presence of this dull layer of oxide on

them. 

Q. Silver metal on exposure to air for a long

https://dl.doubtnut.com/l/_oFuoxe6F4Nbr


time becomes black in colour. what is the

reason behind it ?

Watch Video Solution

4. The decay of metals by atmospheric oxygen

and moisture is called corrosion. Few metals

do not react with atmospheric gases and

water and do not undergo corrosion, while

others develop a dull layer on them or a

coloured layer to spoil their shiny appearance

or turn black or are converted into powder.

https://dl.doubtnut.com/l/_oFuoxe6F4Nbr
https://dl.doubtnut.com/l/_5lvSkXf6edrF


few elements, on the other hand are protected

due to presence of this dull layer of oxide on

them. 

Q. The green layer developed on copper on

exposure to air is due to

A. copper carbonate layer

B. basic copper carbonate layer

C. copper sulphate layer

D. copper nitrate layer.

Answer: B

https://dl.doubtnut.com/l/_5lvSkXf6edrF


Watch Video Solution

5. Certain metals have the capacity to displace

some metals from their salt solutions. These

reactions are known as metal displacement

reactions. A metal placed higher in activity

series can displace the metal occupying lower

position from aqueous solution of its salt or a

more reactive metal can displace less reactive

metal from its salt solution. 

Q. If a zinc rod is dipped in copper sulphate

solution, following changes will be noticed.

https://dl.doubtnut.com/l/_5lvSkXf6edrF
https://dl.doubtnut.com/l/_uvvht0wL2zMV


mark the correct observations. 

(i) Zinc rod slowly loses its weight. 

(ii) Copper settles at the bottom of the beaker.

(iii) Blue colour of copper sulphate disappears.

A. (i) and (ii) only

B. (i), (ii) and (iii) only

C. (i) and (iii) only

D. (iii) only

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_uvvht0wL2zMV


6. Certain metals have the capacity to displace

some metals from their salt solutions. These

reactions are known as metal displacement

reactions. A metal placed higher in activity

series can displace the metal occupying lower

position from aqueous solution of its salt or a

more reactive metal can displace less reactive

metal from its salt solution. 

Q. Take aqueous solution of copper sulphate

in one test tube and ferrous sulphate in

another test tube. dip an iron nail in copper

https://dl.doubtnut.com/l/_uvvht0wL2zMV
https://dl.doubtnut.com/l/_qxfcWO9Yn0Mc


sulphate and copper wire in ferrous sulphate

solution. mark the correct observation.

A. Blue colour in first test tube changes to

light green and green in the second test

tube changes to blue

B. There is no reaction in both the test

tubes.

C. Blue colour in first test tube changes to

light green and no change in second

test tube

https://dl.doubtnut.com/l/_qxfcWO9Yn0Mc


D. Blue colour remains as such and green

colour in second test tube changes to

blue

Answer: C

Watch Video Solution

7. Certain metals have the capacity to displace

some metals from their salt solutions. These

reactions are known as metal displacement

reactions. A metal placed higher in activity

https://dl.doubtnut.com/l/_qxfcWO9Yn0Mc
https://dl.doubtnut.com/l/_mgmj5ejsVGjT


series can displace the metal occupying lower

position from aqueous solution of its salt or a

more reactive metal can displace less reactive

metal from its salt solution. 

Q. The above observations show that

A. copper is present above iron in the

reactivity series

B. iron is present above copper in the

reactivity series

C. both iron and copper are present above

hydrogen in the reactivity series

https://dl.doubtnut.com/l/_mgmj5ejsVGjT


D. reactivity series does not decide

reactivity of the metals.

Answer: B

Watch Video Solution

8. Certain metals have the capacity to displace

some metals from their salt solutions. These

reactions are known as metal displacement

reactions. A metal placed higher in activity

series can displace the metal occupying lower

https://dl.doubtnut.com/l/_mgmj5ejsVGjT
https://dl.doubtnut.com/l/_YWjF7ZRpHczU


position from aqueous solution of its salt or a

more reactive metal can displace less reactive

metal from its salt solution. 

Q. Displacement reactions are shown by

A. metals only

B. non-metals only

C. both metals and non-metals

D. all the elements.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_YWjF7ZRpHczU


9. Metals and non-metals react with oxygen to

give oxide are basic in nature while oxides

formed by non-metals are acidic in nature. The

nature of oxides can be determiend by testing

the aqueous solution of oxide with litmus

paper. 

Q. The oxides of non-metals are acidic oxides

because they dissolve in water to give ____

A. alkalies

B. acids

https://dl.doubtnut.com/l/_YWjF7ZRpHczU
https://dl.doubtnut.com/l/_UsvHLncZO5oI


C. carbonates

D. sulphates.

Answer: B

Watch Video Solution

10. Metals and non-metals react with oxygen

to give oxide are basic in nature while oxides

formed by non-metals are acidic in nature. The

nature of oxides can be determiend by testing

the aqueous solution of oxide with litmus

https://dl.doubtnut.com/l/_UsvHLncZO5oI
https://dl.doubtnut.com/l/_BNcJa0FAmHOd


paper. 

Q. Phosphorus is burnt in air to give

phosphorus pentoxide. it is dissolved in water

and tested with litmus paper. mark the correct

observation.

A. Red litmus paper turns blue

B. Blue litmus paper turns red

C. There is no change in the litmus paper

D. Red litmus paper changes to green

Answer: B

https://dl.doubtnut.com/l/_BNcJa0FAmHOd


Watch Video Solution

11. Metals and non-metals react with oxygen to

give oxide are basic in nature while oxides

formed by non-metals are acidic in nature. The

nature of oxides can be determiend by testing

the aqueous solution of oxide with litmus

paper. 

Q. Magnesium ribbon on burning in air gives a

white powder which when dissolved in water

turns red litmus blue. the reason for this

change is that

https://dl.doubtnut.com/l/_BNcJa0FAmHOd
https://dl.doubtnut.com/l/_SwaIy8iNuBQc


A. MgO is a basic oxide

B. MgO is an acidic oxide

C. MgO is a very reactive oxide

D. MgO is not a reactive oxide

Answer: A

Watch Video Solution

12. Metals in general have a tendency to evolve

hydrogen gas o reacting with acids. In the

activity series the metals that are placed

https://dl.doubtnut.com/l/_SwaIy8iNuBQc
https://dl.doubtnut.com/l/_HZCp7k9RzqH2


above hydrogen evolve the gas on reaction

with acids while the metals placed below

hydrogen do not evolve the gas on reaction

with acids. these metals are regarded as

inactive metals. metals placed at the bottom

of the series are called noble metals. 

Q. Which metal would not produce bubbles of

hydrogen gas when added to dilute

hydrochloric acid ?

A. Magnesium

B. Sodium

C. Iron

https://dl.doubtnut.com/l/_HZCp7k9RzqH2


D. Silver

Answer: D

Watch Video Solution

13. Metals in general have a tendency to evolve

hydrogen gas o reacting with acids. In the

activity series the metals that are placed

above hydrogen evolve the gas on reaction

with acids while the metals placed below

hydrogen do not evolve the gas on reaction

https://dl.doubtnut.com/l/_HZCp7k9RzqH2
https://dl.doubtnut.com/l/_gipwLkyyl0dM


with acids. these metals are regarded as

inactive metals. metals placed at the bottom

of the series are called noble metals. 

Pieces of copper, lead, aluminium and zinc are

added to dilute hydrochloric acid. which of the

following test tubes most likely contains zinc ?

A. (I)

B. (II)

C. (III)

https://dl.doubtnut.com/l/_gipwLkyyl0dM


D. (IV)

Answer: D

Watch Video Solution

14. Metals in general have a tendency to evolve

hydrogen gas o reacting with acids. In the

activity series the metals that are placed

above hydrogen evolve the gas on reaction

with acids while the metals placed below

hydrogen do not evolve the gas on reaction

https://dl.doubtnut.com/l/_gipwLkyyl0dM
https://dl.doubtnut.com/l/_aW67Igr4JuTx


with acids. these metals are regarded as

inactive metals. metals placed at the bottom

of the series are called noble metals. 

Q. Silver and gold do not react with oxygen

even at very high temperature while copper

reacts on prolonged heating. the reactivity of

these metals is

A. 

B. 

C. 

D. 

Cu > Ag > Au

Cu = Ag > Au

Cu = Ag = Au

Au > Cu > Ag

https://dl.doubtnut.com/l/_aW67Igr4JuTx


Exercise Subjective Problems Very Short Answer

Type

Answer: A

Watch Video Solution

1. Elements which possess characters of both

inetals and non-metals are called ____ .

Watch Video Solution

https://dl.doubtnut.com/l/_aW67Igr4JuTx
https://dl.doubtnut.com/l/_D14BXxWXZ4MC


2. A reaction in which a more active metal

displaces a less active metal from the solution

of its salt is called a ____ reaction.

Watch Video Solution

3. What is galvanization ?

Watch Video Solution

https://dl.doubtnut.com/l/_eWeN1hj0DMjJ
https://dl.doubtnut.com/l/_ZI5VavelQnWP


4. Give reason: 

Aluminium is a highly reactive metal, yet it is

used to make utensils for cooking

Watch Video Solution

5. What is rust chemically known as ?

Watch Video Solution

https://dl.doubtnut.com/l/_f6xnJ8cFnUeA
https://dl.doubtnut.com/l/_OCn4amoxchVU


6. What happens when a solution of metal

oxide is tested with (i) blue litmus and (ii) red

litmus ?

Watch Video Solution

7. Compare the changes taking place in an iron

piece and a wood log on heating with a

hammer.

Watch Video Solution

https://dl.doubtnut.com/l/_lJLLjZBUvZYM
https://dl.doubtnut.com/l/_WDeZKoZ2LaR7
https://dl.doubtnut.com/l/_fiY1GZDFT1ql


8. List four physical properties of metals. Name

two metals. Name a metal which is liquid at

room temperature.

Watch Video Solution

9. Explain why aluminium metal can displace

copper from copper sulphate solution but

copper cannot displace aluminium from

aluminium sulphate solution ?

Watch Video Solution

https://dl.doubtnut.com/l/_fiY1GZDFT1ql
https://dl.doubtnut.com/l/_stgEdJDk92C4


10. Why are metals good conductors of

electricity ?

Watch Video Solution

11. Write equation for the reaction of iron with

steam.

Watch Video Solution

https://dl.doubtnut.com/l/_YtbEbQjWpyan
https://dl.doubtnut.com/l/_CzsOFe4New2a


12. Arrange Na, Mg , Fe, Pb , Hg and Cu in order

of decreasing reactivity.

Watch Video Solution

13. What is the most common property of the

metals lying at the top of the reactivity series

?

Watch Video Solution

https://dl.doubtnut.com/l/_1DzBcdK4VXj9
https://dl.doubtnut.com/l/_KBTW3l3iKw5J


Exercise Subjective Problems Short Answer Type

14. What is an amalgam ?

Watch Video Solution

15. In what respect does graphite resemble a

metal ?

Watch Video Solution

https://dl.doubtnut.com/l/_zP0nBOZobeKM
https://dl.doubtnut.com/l/_4WAeOqdsGzZq


1. Complete the given table about properties

of metals. 

Watch Video Solution

2. For the following questions, choose answers

from the list of elements-mercury, carbon,

hydrogen, tin, sulphur, bromine, magnesium,

silicon. 

https://dl.doubtnut.com/l/_Agidpnwvosjh
https://dl.doubtnut.com/l/_q39OE0AqAfMN


(a) Which of the elements are solids ? 

(b) Which of the elements are liquids ? 

(c) Which of the elements are gases ? 

(d) Which of the elements are metals ? 

(e) Which of the elements are non-metals ?

Watch Video Solution

3. What happens when a magnesium ribbon is

heated in presence of air?

Watch Video Solution

https://dl.doubtnut.com/l/_q39OE0AqAfMN
https://dl.doubtnut.com/l/_OtnpmG1lO8Ku
https://dl.doubtnut.com/l/_HOKGwq4VWv3z


4. List few important uses of metals.

Watch Video Solution

5. What will happen if you drop 

(a) some pieces of magnesium ribbon into

blue copper sulphate solution ? 

(b) some tin pieces into green ferrous

sulphate solution ?

Watch Video Solution

https://dl.doubtnut.com/l/_HOKGwq4VWv3z
https://dl.doubtnut.com/l/_SozDyguGgO2i
https://dl.doubtnut.com/l/_xpqaLG28gUJV


6. Gold, platinum and silver are used to make

jewellery. Give reasons.

Watch Video Solution

7. Why do some metals acquire a dull

appearance on exposure to air for a long time

?

Watch Video Solution

https://dl.doubtnut.com/l/_xpqaLG28gUJV
https://dl.doubtnut.com/l/_r3ZGzJWnRSnf


8. Give reasons why metals are good

conductors , whereas nonmetals do not.

Watch Video Solution

9. Why are some metals light in weight ? Give

examples of few light metals.

Watch Video Solution

https://dl.doubtnut.com/l/_iFMeM3oESHNH
https://dl.doubtnut.com/l/_50STA9csIkEE


10. Arrange the metals K, Na and Ca in

decreasing order of reactivity on the basis of

reaction with water.

Watch Video Solution

11. How do alloys brass and bronze differ in

composition ?

Watch Video Solution

https://dl.doubtnut.com/l/_mOfcsktvZCcu
https://dl.doubtnut.com/l/_EkGq0AzBoGRs


12. Aluminium metal is not as reactive as

expected. Why ?

Watch Video Solution

13. Which of the following metals will give

hydrogen with dilute hydrochloric acid ? 

Fe, Cu, Mg

Watch Video Solution

https://dl.doubtnut.com/l/_iqS1S1C3IMHx
https://dl.doubtnut.com/l/_Obcw2WiK6Jeg


Exercise Subjective Problems Long Answer Type

14. Name the alloy of lead used in joining

metals for electrical work.

Watch Video Solution

15. Name the alloy of copper which is used in

making utensils and vessels.

Watch Video Solution

https://dl.doubtnut.com/l/_4L5kRYJsdHMr
https://dl.doubtnut.com/l/_rYL789ynuuBe
https://dl.doubtnut.com/l/_Kgwqb18UZgkI


1. Two properties of four substances A, B, C

and D are given in the table. 

 


Which of these substances in most likely a

metal and why ?

Watch Video Solution

2. Identify the non-metals on the basis of their

uses: 

https://dl.doubtnut.com/l/_Kgwqb18UZgkI
https://dl.doubtnut.com/l/_Jrr77QxrDTAr


(i) Non-metal essential for all living beings. 

(ii) Non-metal used in fertilizers to enchance

growth of plants. 

(iii) Non-metal used in water purification

process. 

(iv) Non-metal used in purple coloured

solution which is applied on wounds and used

as an antiseptic. 

(v) Non-metal used in crackers.

Watch Video Solution

https://dl.doubtnut.com/l/_Jrr77QxrDTAr


3. What are the harmful effects of corrosion ?

Mention a type of corrosion which is helpful to

the metal.

Watch Video Solution

4. Define displacement reaction. An iron knife

kept in blue copper sulphate solution turns

the blue solution into light green. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_0EEIbh62d0qf
https://dl.doubtnut.com/l/_yjP3U1Dk4iC3
https://dl.doubtnut.com/l/_jX0sRMwmjgnL


Exerciseinteger Numerical Value Type

5. With a suitable activity show that sulphur

burns in air to form a compound which is

acidic in nature.

Watch Video Solution

1. Number of metals which lie above hydrogen

out of the following is 

Sodium, lead, copper, platinum, zinc, mercury.

Watch Video Solution

https://dl.doubtnut.com/l/_jX0sRMwmjgnL
https://dl.doubtnut.com/l/_5qGoJtbVlQJU


2. In the following reaction, x is 

Watch Video Solution

xNa + O2 →

3. Number of elements which form basic oxide

is Magnesium, aluminium, carbon, sulphur,

iron, potassium, zinc.

Watch Video Solution

https://dl.doubtnut.com/l/_5qGoJtbVlQJU
https://dl.doubtnut.com/l/_CMbx8TyFS5Cc
https://dl.doubtnut.com/l/_OWalxSvANgfI
https://dl.doubtnut.com/l/_aTWkDg8umQIt


4. Number of elements which will not react

even with boiling water is 

Sodium, iron, zinc, copper, magnesium, silver.

Watch Video Solution

5. Number of possible reactions out of the

following is 

 


 


 


Cu + 2AgNO3 → 2Ag + Cu(NO3)2

Cu + ZnSO4 → CuSO4 + Zn

Mg + CuSO4 → MgSO4 + Cu

Zn + PbSO4 → ZnSO4 + Pb

https://dl.doubtnut.com/l/_aTWkDg8umQIt
https://dl.doubtnut.com/l/_UyKqX3Iej9X8


Olympiad Hots Corner

Watch Video Solution

1. When a copper vessel is exposed to moist air

for long, it acquires a dull green coating. The

reaction can be represented as 

 


W,X,Y and Z respectively

Watch Video Solution

2Cu + W + X + Y


moist air

→ Cu(OH)2 + Z

https://dl.doubtnut.com/l/_UyKqX3Iej9X8
https://dl.doubtnut.com/l/_WN060ydMHJ1e
https://dl.doubtnut.com/l/_DFsDqom6drgA


2. Ms. Deepika, a science teacher

demonstrated an activity in the science lab

and the experiment was set up as shown in

the figure. 

 


The metal 'X' reacts with steam to form a gas

'Y' which is collected int he syringe. 

Which of the following best describes the

metal 'X' and gas 'Y' ?

https://dl.doubtnut.com/l/_DFsDqom6drgA


A. Metal 'X' is silver and gas 'Y' is hydrogen

which burns with a pop sound.

B. Metal 'X' is sodium and gas 'Y' is carbon

dioxide which gives white precipitate

with lime water.

C. Metal 'X' is iron and gas 'Y' is hydrogen

which burns with a pop sound.

D. Metal 'X' is magnesium and gas 'Y' is

carbon dioxide which gives white

precipitate with lime water.

https://dl.doubtnut.com/l/_DFsDqom6drgA


Answer: C

Watch Video Solution

3. Each beaker shown in the given options,

contains two same sizes strips of different

metals fastened together and immersed in

hydrochloric acid. After 5 minutes, which

beaker will contain the least amount of zinc

ions ?

https://dl.doubtnut.com/l/_DFsDqom6drgA
https://dl.doubtnut.com/l/_oJ1bLlG3chYl


A. 

B. 

C. 

D. 

Answer: A

https://dl.doubtnut.com/l/_oJ1bLlG3chYl


Watch Video Solution

4. A copper vessel exposed to moist air for

along time is shown in figure I and sulphur

powder is burnt in oxygen as shown in figure

II. 

 


1,2,3 and 4 are respectivley.

https://dl.doubtnut.com/l/_oJ1bLlG3chYl
https://dl.doubtnut.com/l/_PPmInLtFgfPr


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CuO, CO2, SO2, H2SO3

CuCO3, Cu(OH)2, H2SO3, SO2

Cu, CuO, H2S, H2SO4

Cu(OH)2, CuCO3, SO2, H2SO3

5. Rohit has performed an activity to test

whether the following materials conduct

electricity or not by putting them in the

https://dl.doubtnut.com/l/_PPmInLtFgfPr
https://dl.doubtnut.com/l/_BsXDF2d7N4FT


circuit, one at a time as shown in the figure. 

 


Materials X and Y could be

A. X-1,3,4,6, Y-2,5

B. X-1,5,6, Y-2,3,4

C. X-1,3,6, Y-2,4,5

D. X-2,3,4,5, Y-1,6

Answer: A

https://dl.doubtnut.com/l/_BsXDF2d7N4FT


Watch Video Solution

6. Find the incorrect match.

A. Haemoglobin-Magnesium

B. Fertilisers-Nitrogen and phophorus

C. Chlorophyll-Iron

D. Both (a) and (c)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_BsXDF2d7N4FT
https://dl.doubtnut.com/l/_3qELp4nIFOrE


7. Each of the given beakers contains two

metal strips of same size fastened together

and immersed in in hydrochloric acid. 

 


After 5 minutes, amount of Q ions formed is

greater than P ions in beaker 1, S ions is

greater than R ions in beaker 2, R ions is

greater than Q ions in beaker 3, and T ions is

greater than S ions in beaker 4. 

Correct order of reactiivity of these metals is

https://dl.doubtnut.com/l/_3qELp4nIFOrE
https://dl.doubtnut.com/l/_srVbVgvoXKX3


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P > Q > R > S > T

R < P < T < S < Q

T > R > Q > P > S

P < Q < R < S < T

https://dl.doubtnut.com/l/_srVbVgvoXKX3


8. Read the table carefully. 

 


Identify the products formed and their nature.

A. (1) , basic 


(2) , neutral 


Cu(OH)2. CuSO3

H2

https://dl.doubtnut.com/l/_YUF5VauAXG1v


(3) , basic 


(4) , acidic

B. (1) CuO, basic 

(2) ,neutral 


(3) , basic 


(4) , acidic

C. (1) , basic 


(2) , neutral 


(3) , acidic 


(4) , basic

Fe2O3

SO2

O2

Fe3O4

H2S

Cu(HO)2. CuCO3

H2

Fe2O3

SO2

https://dl.doubtnut.com/l/_YUF5VauAXG1v


D. (1) , basic 


(2) , neutral 


(3) FeO, basic 

(4) , basic

Answer: A

Watch Video Solution

Cu

H2O

SO3

9. Neha, a class VIII stuents arranged the

following experimental set-up and observed

the changes carefully. 

https://dl.doubtnut.com/l/_YUF5VauAXG1v
https://dl.doubtnut.com/l/_R30qf6lQ8DUM


 


On the basif of her observations identify the

correct order of reactivity.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Zn > Cu > Fe

Zn > Fe > Cu

Fe > Zn > Cu

Cu > Fe > Zn

https://dl.doubtnut.com/l/_R30qf6lQ8DUM


10. Namita categorised the different elements

as shown below: 

 


Which of the characteristics is not correctly

matched by Namita ?

A. (i), (iii) and (v)

B. (i), (ii), (iv) and (v)

C. (ii), (iii) and (iv)

https://dl.doubtnut.com/l/_R30qf6lQ8DUM
https://dl.doubtnut.com/l/_gp7Lej4G0yXP


D. (i), (ii), (iii), (iv) and (v)

Answer: C

Watch Video Solution

11. Match the column I with column II and

choose the correct option using the codes

given below. 

Watch Video Solution

https://dl.doubtnut.com/l/_gp7Lej4G0yXP
https://dl.doubtnut.com/l/_loqjB9LLY481


12. Any article of iron if left in open for some

time, acquires a film of brownish substance

(rust) having chemical formula ____

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Fe3O4

Fe2O3. xH2O

FeO

Fe(OH)2

https://dl.doubtnut.com/l/_loqjB9LLY481
https://dl.doubtnut.com/l/_flqL2mo2gqgV


13. Few uses of metals are shown below. ,br>

 


Identify the properties which are responsible

for the uses X, Y and Z respectively.

A. Conductivity, Malleability, Ductility.

B. Ductility, Malleability, Sonorous

C. Sonorous, Malleability, Ductility

D. Malleability, Ductility, Sonorous

https://dl.doubtnut.com/l/_flqL2mo2gqgV
https://dl.doubtnut.com/l/_mKUOwSMUe3uW


Answer: D

Watch Video Solution

14. A student performed the first set of

experiments with four test tubes containing

solutions and metal pieces as indicated in the

figure. In the second set of experiments, the

metal pieces are interchanged between test

tubes P and Q and also between test tubes R

and S. 

https://dl.doubtnut.com/l/_mKUOwSMUe3uW
https://dl.doubtnut.com/l/_3QlSvz9hTL0F


 


In which test tube(s), no reaction will occur in

both sets of experiments ?

A. P and Q

B. R

C. S

D. R and S

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3QlSvz9hTL0F


15. The given diagrams show the reactions of

three metals with dilute hydrochloric acid.

What are metals P, Q and R? 

A. P-Copper, Q-Magnesium, R-Zinc

B. P-Copper, Q-Zinc, R-Magnesium

C. P-Magnesium, Q-Zinc, R-Copper

D. P-Zinc, Q-Magnesium, R-Copper

https://dl.doubtnut.com/l/_3QlSvz9hTL0F
https://dl.doubtnut.com/l/_aPagnFilsdJn


Answer: A

Watch Video Solution

16. Three experiments to investigate the

reactivities of three metals are shown as: 

 


What is the correct order of reactivity (most

https://dl.doubtnut.com/l/_aPagnFilsdJn
https://dl.doubtnut.com/l/_WPs93B6fORRy


reactive least reactive) for these three

metals ?

A. Chromium, Manganese, Nickel

B. Manganese, Chromium, Nickel

C. Manganese, Nickel, Chromium

D. Nickel, Chromium, Manganese

Answer: B

Watch Video Solution

→

https://dl.doubtnut.com/l/_WPs93B6fORRy


17. Identify A, B, C and D in the given sequence

of reactions. 

 


 


A. A-Na, B- , C- , D-

B. A-Na, B- , C- , D-

C. A-K, B- , C- , D-

D. A-K, B- , C- , D-

Answer: A

2A + 2B → 2AOH + H2

S + O2 → C

C + B → D

H2O SO2 H2SO3

H2O SO2 H2SO4

H2O SO2 H2SO4

H2O SO3 H2SO3

https://dl.doubtnut.com/l/_ExFwgOb4AHYG


Watch Video Solution

18. Ritika noted the initial colour of the

solutions in beakers I, II, III and IV. After

inserting zinc rods in each solution and

leaving undisturbed for two hours, she noted

the colour of each solution again. Mark the

beakers in which colour change is observed ? 

https://dl.doubtnut.com/l/_ExFwgOb4AHYG
https://dl.doubtnut.com/l/_Syi0eeiTFP5g


A. I and II only

B. II and III

C. III and IV

D. I and IV

Answer: C

Watch Video Solution

19. Samples of four different oxides were taken

and dissolved in water separately to form the

respective oxide solution. The four solutions

https://dl.doubtnut.com/l/_Syi0eeiTFP5g
https://dl.doubtnut.com/l/_wBdI23gxnbwe


were then tested for their acidic/basic nature.

When dissolved in water, which of the

following oxides, is likely to turn blue litmus

red ? 

A. 

B. 

C. 

SO2

MgO

Fe2O3

https://dl.doubtnut.com/l/_wBdI23gxnbwe


D. 

Answer: A

Watch Video Solution

CaO

20. Mona tries an experiment with five

different metals namely sodium, magnesium,

zinc, iron and copperr taken in five different

test tubes respectively. 

https://dl.doubtnut.com/l/_wBdI23gxnbwe
https://dl.doubtnut.com/l/_g8WedA5APyOQ


 


Mona observed that hydrogen gas is evolved

in test tube 3, only when it was boiled. test

tube 3 contains only ____

A. Zn

B. Na

C. Mg

D. Cu

https://dl.doubtnut.com/l/_g8WedA5APyOQ


Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_g8WedA5APyOQ

